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m—qﬁ-?ri%maﬁ ﬁﬁr 3, B, e, TAfa,
FRUT, 93T 4 FTTelt aTeh U SARE # d ¥t
TS AT SHI FHA A &1 Y AP ATSTT A G Fele &
YT Fole 1 IR Fole 2| Fele 1 Fele 2 F IRTA A
T g9 T 09T & BRI FEAT 1, 3TF ST AT
FAforer 2 § 3R sHY e 9= I Ao Hr aEar4
t] Fole 1 Fae 2 FafRaa A ¢ . Tfa 3k e
T i forer I Tt &, 3 A1 1 siforer ¥ sy @it
U g Fol < T T@ @ o ool WH HEIT ATl Fole W
1| AT 39 A fFd W 3 AfSrer A1 Eelt § <1 e
ST Y AT I @1 ¢ 31N v FH WA arelt
AT I @ dT & et a8 A9 39 AT 9T 181
Yedr g1 Rareft fRemras & & FuT arell Al @
EdI g ARt A e A @A & A3k
faetrae oftd #forer o 7€t tea 81 el 3@ wAfarer
¥ 2 AfSa A |l & o9 ) B g ¢ stk et
T & Fole & gt &1 B 3l f&vor, sty frAaforer
& &Y J9Tel qTolY AfSTSr U el (@l &

Eight people Himanshi, Nidhi, Abhi, Priya, Vinayak,
Smrriti, Kiran, Shweta live in a building with 4 floors
but not necessarily in the same order. Each floor has
two flats i.e. flat 1 and flat 2. Flat 1 is west of Flat 2.
The lowermost building floor is numbered 1, the
floor above it 2 and so on till the topmost floor is
numbered 4. Flat 1 is west of Flat 2. There is 1 floor
between the floors on which Smriti and Vinayak live
and both live on the same flat but not on even
numbered flat. Shweta lives 3 floors below the
person who lives on the top floor. Abhi lives on an
even numbered floor but he does not live on the top
floor. Himanshi lives on the floor immediately above
Vinayak and both lives on same flat. Nidhi and
Vinayak do not live on the top floor. Himanshi live 2
floors below the floor on which Priya lives and both
lives on same flat. Priya and Kiran do not live on the
floor immediately next to Abhi’s floor
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" Eight people Himanshi, Nidhi, Abhi, Priya, Vinayak,
4 %% Smriti, Kiran, Shweta live in a building with 4 floors
. but not necessarily in the same order. Each floor has
) Sﬂ}n’t‘ M ;'cULu two flats i.e. flat 1 and flat 2. Flat 1 is west of Flat 2.
Y . The lowermost building floor is numbered 1, the
Q HiMGMh ﬂ{a/u_ floorbabo:;ellitl:zI an1d SO on til::tFI?e t;) host ro;);Iis
- numbered 4. Flat 1 is west of Flat ereis 1 floor
J \}iﬂﬂ‘f“K Sku)dm.. between the floors on which Smriti and Vinayak live

and both live on the same flat but not on even
) | numbered fIthweta lives 3 floors below the

E’Dm OV M‘I”\j"ﬁ'i- Himans b person who lives on the top rooCAbhi lives on an

\/"E‘}j 1‘\ even numbered floor but he does not live on the

<q¥ ‘ > Llvos - e top floor@_imanshi lives on the floor immediately
: S N AV 5 lZbove Vinayak and both lives on same flat. Nidhi
A'bl\-‘* — 5 / 7 &b nd Vinayak do not live on the top roo@imanshi

live 2 floors below the floor on which Priya lives and
both lives on same flat. Priya and Kiran do not live
on the floor immediately next to Abhi’s floor
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18.Who lives on Top floor?
IR 1 AfGT W FleT T@ar g2

a. Smriti

> Kiran

c. Abhi

d. Priya

e Bothi b and d

g
Floor Flat 1 Flat 2
4 Priya Kiran
3 Smriti Nidhi
2 Himanshi Abhi
1 Vinayak Shweta
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19.How many floors are there between Kiran and Shweta?
fyor 3R edar & AT o #foer &7
\< WO
b. None
c. One

d. Eithera or c
e. None of these

Floor Flat 1 FJat 2
4 Priya ‘Kiran

3 Smriti Nidhi
2 Himanshi Abhi

1 Vinayak Shweta
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20.Which of the following statements is correct?

27 Smriti lives on the third floor
b. Priya lives on a floor above Kiran

E

C. There is three persons living between Priya and Vinayak

d*Nidhi lives immediately above Kiran

IR
ARN

AN

Floor

Flat 1

Flat 2

)e(\Himanshi lives immediately below Vinayak

4

Priya

Kiran

Smriti

Nidhi

ffR@aTFaaiAdFaad g2

Himanshi

Abhi

3
2
1

Vinayak

Shweta

vl R Afqe W Ed s e
&t RrIT RFTOT & 3T T AT W e

3 AfY Ao F SF FWwEA T
5| e & S 7 Rl et

@ A ik R F da T afFawa
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21.0n which floor does Abhi live?
Hf fFg AT W §ar g2

_Fnd.

b. 4th

c. 3rd

d. 1st

e. None Of these Floor Flat 1 Flat 2
4 Priya Kiran
3 Smriti Nidhi
2 Himanshi Abhi
1

Vinayak Shweta
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913 =7fh- A, B, C, D, E, F, G 3T H = Y& uf
¥ I AT AT qE@ FF 45§ T T2 F A
AR ZHT 7 H 2

E 4ftF % i@ # 921 21 E o7 H ¥ o9 ¥« o=
=t 4% &1 H 3 D F &= ¥« a1 =1fwr 343 21 B,
D & & gAY ¥ 97 427 2| B &% E fAseaw
TErT 7E 1 G, A F T a4 437 21 G AT B F
A= 7% =T 1 Fer It 1 2 Srat Asie C &
&t 4% =it T qear 2|

Eight persons-A, B, C, D, E, F, G and H are sitting
in the linear row facing the north. All the
information is not necessarily in the same order.
E sits on the end of the row. Only five persons sit
between E and H. Only two persons sit between
H and D. B sits second to the right of D. B and E
are not immediate neighbours. G sits immediate
right of A. The number of persons sits between
G and B is the same as the number of persons
sits between A and C.
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Eight persons-A, B, C, D, E, F, G and H are sitting
E A 67 D C ) H = in the linear row facing the north. All the
F, — _é } ,c' f + information is not necessarily in the same order.
E sits on the end of the row. Only five persons sit
,‘ i f g ﬁ. between E and H. Only two persons sit between
\i) é H and D.é_sits second to the right of D. Band E
are not immediate neighbours.(G sits immediate
right of A. The number of persons sits between
G and B is the same as the number of persons
sits between A and C.

}

.'
H
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Who sits second to the left of C?
‘ ‘ | | | | ‘ ‘ a)Bb)Ec)A cv//:fe) None of those give an option
D
EA 0 R C A HoF . .
Who among the following person sits to the
right of B?

dQ@ %wl)F G IV)A

— nly (1) and (ll)

b) Only (1) and (IV)
c) Only (1) and (l1l)
d) Only (ll) and (IV)

e) All (1), (1), (111) and (1V)

__a

If one neighbour of C is B, who is the second
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How many persons sit between G and H?
a) Twaq b)/Three c) Four d) Five e) One
Qyyth

If all the persons are arranged in alphabetical
order from the left end, then how many persons
are unchanged in their position?
a) Three

b} Two

cyYOne

d) None

e) More than three !—

I
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SEETe ., hendras A
051431 %6 Ito\s@m@fs k097 H% 1088

-How many such vowels are there which is immediately followed by a number?

VI frad TR ¥ Y 9% 9 U §Ear s 37

e b) Three c) Two d) Four e) None w
Find the next element in the following series?
263, =I5, M@*, ? &b oa
(1) \
a)HJO le)/ﬂd‘{ c) "%0 d) !0X e) None of these \\

Four of the following five are alike in a certain way and thus form a group as per
the given arrangement. Which of the following does not belong to that group?

ﬁmﬁﬁawﬁ#wwmaﬂﬂ:#w%aﬁtwmﬁ
ME SYAEAT F HTAR T FHE de1d ¢ Aefaf@a & @ i 39 a4z @

qafaq g1 87
\F2OS b) A=l c)L9# d)+@5 e) *OA



http://www.mahendras.org/

! 1 :=0 - FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

20$143A=GIL95#KM+@ES*09A HERI DTS

Which is the 15th element to the right of the 12th element from the left end?

g BR ¥ 129 dcd & & ¥ 15dT ded &iT 4T 8?2

a) # b)Hrr)/V’ d! e)xX 1,415 =29
-/
Chb)y SiLs
/
How many lettersare immediately preceded and followed by a symbol?

frast 3aRT & & ggd 3R I H TFH YdlF 87
a) Three EM c& d) Four e) None
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@z #AE- L, M, N, O, P, Q, R, 7 S m% 3=+ 17 | | Eight persons-L, M, N, O, P, Q, R, and S are

U 7 F7 AT A7 q@ w9 95 2 | w4 441 fFadr | | sitting on the circular table facing the center. All
i s the information is not necessarily in the same
order. N sits second to the left of S. Only two
persons sit between S and M. P sits second to

‘ T % e ‘ the right of M. The number of persons sits
= 2 ;;rﬁ}-m qHE=T ﬁ:ﬁ — 4
2 P ARM ¥ A 35 I a2 between P and M is the same as the number of

Sradt M 3w L F = a2 =afwai §1 5= 21 0, R | | persons sit between M and L. O sits second to
¥ a0 & v w4 97 477 21 Q #iw O fAweaw | | the left of R. Q and O are not immediate

N,SFamd § gAY ¥ T 3T 21 S 3T M ¥ fi 7

Fa 2 ATh 95 21 P, M ¥ 313 § 8L #1997 937

TEr TR neighbors.
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Eight persons-L, M, N, O, P, Q, R, and S are
sitting on the circular table facing the center. All
the information is not necessarily in the same
'Y order N sits second to the left of S. Only two
ersons sit between S and M. P sits second to
qéfhe right of M. The number of persons sits
between P and M is the same as the number of
>< persons sit between M and L. O sits second to

the left of R. Q and O are not immediate
“\neighbors.
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Who among the following person sits immediate left of N?
\j{)/Pb)Rc)Md)Oe)L
/

L N\

{ N\ )}
If S is related to O and M is related to P in a certain way.

Then.who among the following is relate@ C.
&%o) M c) O d) L e) None of the above @ o

/7

|

a)Rb)Pc)N e)L

(4

Who among the:ffllowing person sits opposite to M?

What is the position of L with respect to Q?
a) Second to the left b) Immediate right c) Third to the left
.Wond to the right e) Immediate left

~

How many persons sit between S and R when counted to the

right of S?
a) One b) Two Q%(ee d) Four e) None
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16) Statements: 17) Statements:
Js“(zK>LsN>G=O<Q'/ XsY=Z<WzV=U

l. => U
Conclusions: ‘/('

N.Z =X
XIs<Q Lz

A.Only | follows
U

Cb | BFoth | & 1 follow
a) None follows —_—

C. Either | or Il follows
b) Only | follow

D.Only Il follows
C y |l follow

E.None of these
d) Both | and Il follows

e) Either | or |l follows
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18) Statements: 19) Statements:

F<A<S >Z > P =2 B=R<D |=J<M=L2K=N

Conclusions: Py <] - |
A LN L
A <P S  only i follows

a) None follows
) \%either | nor |l follows
W follow

C. Both | and |l follows
c) Only Il follow

d) Both | and Il follows D.Only Il follows

e) Either | or Il follows E.None of these
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t;tements:

P7::>M N2P=S>T=_I}M--:H£G~':I;
Conclusions:

K/> Q@ |\)/|/|3
%\\G L=
\le | follows.

B.If only Il follows.

C.If either | or |l follows.
D.If neither | nor |l follows.

E.If both | and |l follow.


http://www.mahendras.org/

FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

ATT AR - A, B, C, PR SHTZATTTITTIT  gaven boxes- A, B, C, P, R, S and Z are kept one

above another in the stack. The lowermost shelf
is numbered as one and the topmost shelf is
numbered as seven. All the information is not
necessarily in the same order. Box A is kept

41 Fa a1 F1F9 g1 719 C, T B AT AF AF | adjacent to Box B. Only two boxes are between
5 T T 2 At S Fr = R F 9= 3¢ | B and C. Box C is kept below box B and box A.
Box S is kept immediately above box R, none of
the boxes are kept below box A. Box P and Box Z
are kept below Box B. The number of boxes kept
T R F Y 7@ A0 FFT AT AT, A Z F AT | above box R is the same as the number of boxes
T T FFAT FT TEAT F THA 2 kept below box Z

TOF H TET AT | 999 A= 9°F T uF F w7 H
4T STAT 2 3T EH FUT T AFF T ATT F BT H
AT ST 21 STt @ G weft aEer 2w it we A 2l
TFAFTITFBFAAT @I TATZI B AT C #F

TET AT 2, 1 AT F70T, 10T A F {19 F21 &1 77

21 AT P 3T T Z, 91 B ¥ #= T@|r v 2
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/!
4 ) \//Seven boxes- A, B, C, P, R, S and Z are kept one
_above another in the stack. The lowermost shelf
is numbered as one and the topmost shelf is
numbered as seven. All the information is not
_necessarily in the same order. Box A is kept

Q/ —-adjacent to Box B. Only two boxes are between
D, £ = B and C. Box C is kept below box B and box A.
C Box S is kept imgidiately above box R, none of
B the boxes are kept below box A. Box P and Box Z
are kept below Box B. The number of boxes kept
? above box R is the same as the number of boxes
kept below box Z
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Boxes 21) Which of the following box is kept immediately
above C? M
_ a) Box Rb) Box B c) Box S oxZe)BoxP
7 S - al ) ) ) )
6 R \7_8 22) How many boxes are kept above box A?
A\ a) Three b)Awo c) Four d) Five e) One

5 OA ‘%L_ C_ "4

/[ 23) Four of the following are alike a certain way and
4 ( B_/ | & P hence forms a group. Which of the following does not

Y belong to the group? /
3 -PT- & a) SA b) RB ¢) PCd)APt,;zﬁ
2 Z ) -S 24) Which of the follpwing shelf does box P has kept?
1 a) Fourth b) Fifth@/ﬁ?iZd d) Second e) Sixth

25) If all boxes are arranged in alphabetical order from
the top, then how many boxes are unchanged in their

pasitions?
Jf\lone b) Three c) Two d) One e) More than three
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T qiE | /19 7#959- A, B, C, D, E, F, 3T G | | A family consists of seven members- A,
Fv 2 fFaRa s §) C, G #it wnft &, A1 Tw B,C, D, E, F, and G and two married

| couples. Cis the sister-in-law of G, vice
AT (vice versa)l A, F &1 f4aT 21 G, D #T || yersa. A is the father of F. G is the only

ATl AT 21 B, C FT 797 21 E 3% A 9rg-ag 21 daughter of is the father-in-law of C.

E and A are siblings. F is the niece of G. E
F, G 31 wTS(T 21 E SATaTied 21 C 1 F1< qre-ae is unmarried. C has no siblings.

CEIEA C—):DQ—Q A 7_

+ E
= >t f\eﬁc@-)

~C



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

B(+) D(-) 26) Who among the following is the mother of F?
A.G \%"' C.D D.E E.None of the above
l Which of the following statement is true with
E(+)— G(-)— A(+) c(-) | respect to E?
PKE and C are married couples
,‘B’{is the son of C
l is the father of G
F(-) \ 15 the brother-in-law of C

E.All are true

6 d O 28)Four of five among the following are based on a
;' certain group. which one does not belong to the

group?
(/é} BL CG DD EF
2 O -,
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29) Statement 29) FIF
0” Only a few Ellipse is Nonagon Fa9 T3 & 211 (ellipse) =T (nonagon) &
\'

)
T -
All Nonagon is Rhombus T AT (nonagon) FHATHS (rhombus) 2

ST (rhombus) F1T (d o
Some Rhombus is Decagon T FHITYS (thombus) (decagon)

Ay
Conclusion |. FTE A (nonagon) FT (decagon) 21 &
:??-%’ Nonagon is Decagon Il. 757 TFWTT (decagon) FT «ff AT (nonagon)
I.’All Decagon can never be Nonagon

a) If Only conclusion | follows.

b) If Only conclusion Il follows.

c) If eitherconclusion | or Il follows.
¢ Neither conclusion | nor |l follows.

e) If both conclusions | and Il follow.
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30) Statements:

yome mouse is keyboard
All keyboard is laptop
Only a few laptop is CPU

Conclusions:

\/I//{keyboard can be CPU
\/Scﬁ‘e mouse is laptop

A.Only conclusion |l follows

B.Only conclusion | follows
\}}%‘fh/mnclusion | and |l follow

D.Either conclusion | or |l follows

E.Neither conclusion | nor |l follows

30) FHI:

F AT3H (mouse) FT4TE (keyboard) &
T+t Fare (keyboard) 72T (laptop) 2
F T &1 A7 (laptop) #THr (CPU) &
Ao

. T+t Frars (keyboard) #4 (CPU) 2T 7% 8
Il. F= 9139 (mouse) @217 (laptop) &

A. Fa [AoRT || ST Far 2

B. Faer e | SrEor F:7ar 8

C. arat A | 3 || SIaeor #3794 &
D77 a1 faetd | 37 || aeor Far g

E.7 a1 e | 3 7 27 |l sraeor Fear g
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31) Statements: 31) 9
Fad caie (tablet) T AraTZ (mobile) g

Only tablet is mobile

| T Zaere (tablet) ATt (laptop) 2
Some tablet is laptop § , .
FAT T a1 97 (laptop) FI=T (computer) g
Only a few laptop is computer o—
Conclusions: . F w7217 (laptop) AETse (mobile) BT TFd &
)Kome laptop can be mobile I. 72 AT (laptop) FTLET (computer) T2t &

A. Faer fAeT | T Fear 2
B. et Aoy || sre@eor ear 2
C. 7 ar v | 3w 7 27 || SrEeor F#7ar 2

\Wlusion [l follows D 7 77 frewT | 77 | WW%

C.Neither conclusion | nor Il follows g, #rt fsed | st 11 s 0

D.Either conclusion | or |l follows
E.Both conclusion | and |l follow

| e laptop is not computer

A.Only conclusion | follows
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Only a few Mouse is Bat

No Bat is Cow

an

G/

Some Cow is Goat

Conclusion

I,E‘G(ne Goat is Mouse

N Goat being Bat is a possibility
a) If Only conclusion | follows.

b) If Only conclusion Il follows.

c) If either conclusion | or |l follows.

either conclusion | nor |l follows.

e) If both conclusions | and Il follow.

32) FI

FAA T 2l ATSH (mouse) 92 (bat) &
#1292 (bat) FT3 (cow) T2l &
T FT3 (cow) e (goat) 2

Ay
. = e (goat) ATSH (mouse) 2

Il. 75fY 1= (goat) F &= (bat) 21 FT H9TAAT 2
a) 7% Fae AT | FqETT F7aT 2|

b) =t Faer e || AL F2aT 2

¢) 7t a7 a1 A | AT || AEor FaT 2

d) #fz 7 ar A | =i 7 &1 11 SraEeor Far 2
e) 7z Aot | 3 || F=T ATECOT F7 2
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2% =1f%- P, Q, R, S, T, @7 U wF & 7 % &
AM-AAT w1~ A0, HE 3T A il &l T[T
fafat a7 ar 15 a1 18 7% AW | @AW o 77
21 AT TR B Ay AT T+ w2

T. Q 7 21 AfFaT T8 977 o941 21 Q, g T
farre ST ATt AT F I At 21 T ' Tge 9
Ad AT ATHAT Ft F=qr, U F 978 9T o9 AT
IR T H&AT & q9H 21 S, P # G Tgel 9
dar gl R, T F A= 91T 781 «ar 2l

Six persons-P,Q, R, S, T, and U are
attending the seminar on two different
dates either 15 or 18 of three different
months- April, May, and June of the same
year. All the information is not necessarily
in the same order. T attends two persons
before Q. Q attends on the odd number
date of the month. The number of
persons attends before T is the same as
the number of persons attend after U. S
attends immediately before P. R does not
attend adjacent to T.
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Six persons-P,Q, R, S, T, and U are

iV attending the seminar on two different
R‘ dates either 15 or 18 of three different
&/ months- April, May, and June of the same
year. All the information is not necessarily

3 — in the same order. T attends two persons
P before Q. Q attends on the odd number

date of the month. The number of

~— | bpersons attends before T is the same as

| the number of persons attend after U. S
D attends immediately before P. R does not
& attend adjacent to T.
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Month with Date Person 33) Who among the following attends immediately
before R?
April 15 S a)Sb)Pc)Td)U@é{
April 18 P 34) Who among the following person attends on April
May 15 T 15th?
a)Rb)Uc)Td)Pg/
May 18 U. -
June 15 Q - 35) Which of the following statement is/are true?
I. T attends on an even number date
June 18 R- 11.Q attends immediately before S
fIJT.;P and T attend on different months
kthends in the month which has an even number of
Vs
a) Onlyland Il Q)/ nly lll and IV c) Only Il and Il
d) Only Il and IV e) None of these



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

36) On which of the following month and date does U attend

d & the seminar?
U = farfaf@a # @ o #7d 3k af@ & vafAaR &

— | 1T ST 872
a) June 15 b) June 18 c) May 15 d\ y 18 e) April 15

37) How many persons are attending the semina(after T?
TH a1 fhder cafdad AFAER & omr & @ 872
a) One b) Two‘c)/(ﬁee d) Four e) None

V

it
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38) If all the letters of the word “BROWNIE” are arranged in
alphabetical order from the left end, then which of the following letter

is second from the right end?

af& ereg “BROWNIE” & F3fY &I FT 90 8K & JUIIHA A
qafead fFaT oaT & @ PeR@a i & ST 97 3R o

BN § qE T W g7
(§)Y

a) 0 \E)//R/é)N dE e)W
oS ER

N
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39) How many pairs of digits are there in the number “3614729” each of which has as
many digits between them in the number as in the number series? (Both Forward and
Backward direction)

HEAT “3614729" A IR H 0O fFaad goA &, A T v+ & &g 3aa &
¥ § T aean s@en # ¥ (3 AR NS at frem)

a) Six b) Seven c) Five d) More than seven e) Four

it
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s B
40) In a certain code language, If “FRIED” is written as “ QEJCF” and “PLANT” is
written as “KOBSM”, Then how is “SHOWN"” will be written in that code language?

vs fAfRaa fe am A, Ify “FRIED” &1 “QEICF” for@T STaT & 3R “PLANT”
“kOBSM” For@T STaT &, ar 3HY F1T HT9T I “SHOWN” FT Ha for@r ST

a) HSPMV b) GRPMV c) GRPOV d) TGPMX e) TRPMX

it
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